Algebra 2 Worksheet Hame t

W5 Completing the Sguare #l

L Tdentify each comc Section.
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1L Tdentify the conic section, Then rewriie in st andard form by completing the square.
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IIT. Eewrite the conic Section in General Farm

-

1y iﬁ-z]’ i
T

1

?C‘{Jlj':*#[ﬁfjjl: 35
g(x-00-D + 4 (41 = 3¢
'?[uux-u |j + 4 Ujlu&”ﬁ H}} o
4 [ﬂlnixrh % "4'{_:0"+45+*f =3¢
?ﬁl*!é’:{ +9 + #ﬂlﬂé:& + /b =36
Gyie 4 ‘—:s'x+a'£5+q+m-j,:=.—,

9x2 +4 42 -1gx Hby ~11=0
=

10: (x=3) =4{y+2)

(% -3)x-3) = 4g+5"
v2.3% -3x + 9 ~4y=8=C

wr = lex —Hj-ﬂ =

W3- lox -4y #! =0

t(x=5) #{y+1) =4

Lx-s‘)[_:hs‘J +[LJ“}I:ETI+D &l

xr-gy-5%+as +t31+|ﬁ+uj+g-q

Y oy +25 +|:|I‘-;-.-'i'j . R
IJ"H\]:'-:G?:-MU 3= O3

K.'H-lf ~10x +ay +23 = O

ij L ad

1 Ifl_ k]
13.'5% ‘-[l{EiL=I cps

-3l =

5 () - 3':34"4){'&1-4}: f'J"I
5(HVen A *1) —ELLL] L*“ﬁ*'*b”.%’;j_
S(cant)) 3y tegat) 765

-5.:{1-} 2% 5= 33"—&43 ~45 1 1520
5.-:“‘—35*.,;;&.& ~ddg 45 -4 § -151°0
D

Sx 33y HOx -4y -58 =




